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R fZEstt PBBE AR
=] JALT JL—T 84%
=0 ANAZ JL—T 80%
b JALY IL—T 87%
dt L ARE—T514%— 89%
12 ] JALY IL—T 100%
P ANAS JL—T 100%
12 ARRA—=0514¥— 74%
12 Ah4<—4 93%
K& JALY L—T 83%
K& ANAZ JL—T 99%
K& YSURIF 81%
HER JALY JL—T 97%
HEA ANAY )L—T 80%
EER YSURIT 81%
PN JALY IL—T 68%
K& ANAZ JL—T 77%
PN YIURLT 86%
=% JALY JL—T 65%
= 15 ANAY JL—T 80%
=% YSURIT 83%
BERS JALY IL—T 97%
BRE ANAZ JL—T 83%
BERS AHAR—4 79%
BRE YSURIT 81%
ARER JALY IL—T 100%
i ANAZ JL—T 97%
ARER AHAR—4 98%
=1 JALY JL—T 100%
=) ANAY JL—T 93%
$AaiE JALY JL—T 100%
FaiE ANAY )L—T 97%
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OPHEHE
R fZEstt PBBE AR
i Al JALY )L—T 90%
Al AIRDO 46%
HBJI| JALY IL—T 99%
HEJI AIRDO 64%
Fal 2 JALY IL—T 92%
Il % ANAZ JL—T 78%
Fal 2 AIRDO 75%
Wik JALY L—T 94%
Gicd/ AIRDO 65%
FT% JALY L—T 97%
FT=® ANAY )L—T 99%
FT% AIRDO 87%
FT=& ANAI—Y 93%
BRIfE JALY JL—T 99%
BKEE ANAY JL—T 84%
BRIfE AIRDO 92%
N H JALY IL—T 98%
A H ANAZ JL—T 72%
NN JALY IL—T 90%
NN ANAY JL—T 74%
&R JALY L—T 97%
aksi ANAZ JL—T 92%
{Eibs JALY IL—T 100%
F1 ANAZ JL—T 100%
E3Eic] JALY IL—T 93%
£k ANAZ JL—T 90%
E3Eic] RA—D5( ¥ — 60%
#HE ANAZ JL—T 75%
HE ANAI—Y 88%
[ JALY L—T 95%
[EA[H] ANAY JL—T 76%
N JALY JL—T 98%
=) ANAY JL—T 89%
=k JALY L—T 70%
M=EE ANAY JL—T 87%
=k ARE—D51¥— 81%
= JALY L—T 87%
= ANAZ JL—T 83%
mE JALY L—T 96%
HE ANAG JL—T 59%
NIl JALY IL—T 82%
NIl ANAG JL—T 96%

OFTHRZEE

R fZEstt PBBE AR
FIH JALG )L—T 100%
FHE ANAZ JL—T 100%
FIH AIRDO 99%
FHE ANAI—Y 95%

i Al JALY IL—T 88%

Al ANAZ JL—T 87%
B JALY L—T 77%
& ANAG JL—T 58%
FH JALY IL—T 93%
A H ANAG JL—T 61%
= JALY IL—T 89%
=S ANAG JL—T 96%
= AIRDO 100%
JIE= Peach-Aviation 49%
= FARYIRIT AV R 0%
s JALY JL—T 94%
s ANAY )L—T 89%
K H JALY JL—T 98%
A H ANAY JL—T 100%
R H Peach* Aviation 68%
A H SIybRE— Sy 84%
K H EMMERXR 92%
aaki JALY IL—T 100%
aksi ANAG JL—T 100%
aaki AIRDO 100%
=afi STy RE— Dy 62%
&R IFT7OT7 Ty 73%
aksi ANAI—Y 97%
{Eibs JALY IL—T 100%
F ANAG JL—T 100%
E3Eic] JALY IL—T 100%
EaFid] ANAZ JL—T 100%
E3Eic] Peach* Aviation 90%
E3kid) CIYhRE— Ty 96%
#HE ANAY )L—T 100%
#HE AIRDO 51%
HE ANAI—Y 69%
N JALY JL—T 100%
=) ANAY JL—T 100%
126 JALY JL—T 100%
126 ANAY JL—T 100%
1& ] Peach-Aviation 92%
12 ANAI—Y 58%




ORIGZEH®

O ZEE
R fZEstt PBBE AR
FIH JALG L—T 99%
FHE ANAZ JL—T 100%
FIH AIRDO 99%
OKEEEE
R fnZEstt PBBE AR
FIH JALG L—T 100%
FHE ANAZ JL—T 100%
FIH AIRDO 100%
&R AIRDO 100%
{Eibs JALY IL—T 100%
F ANAZ JL—T 100%
OFREE
BRER et PBB{ERE
T JALT IL—T 100%
FT=® ANAY )L—T 96%
F1 JALY L—T 100%
{Eibs ANAY JL—T 99%
FF TFARYHRAITSA R 97%
t2hE ANAY JL—T 97%
12[H TFARYHRAITSA R 100%
fRE 7V M) =LIFF4VR’ 100%
O/IMAZE;
R fZEstt PBBE AR
FIH JALG L—T 100%
FHE ANAZ JL—T 100%
t2hE ANAY JL—T 100%
15[ TARYHRAITSA R 100%

OLBEE
R fZEstt PBBE AR
FIH JALZ JL—T 100%
FHE ANAZ JL—T 100%
FT=® JALY L—T 100%
FT% ANAZ JL—T 100%
A H FARYIRIT AV R 100%
R H EMMERAXR 100%
OFEEE
BRig fnZe a4t PBBERA®E
FIHE JALT )L—T 99%
FH ANAY JL—T 100%
Odt i Z= &
R fZEstt PBBE AR
FIH JALZ JL—T 100%
FHE AE—T 51— 100%
OMIZ=HE
R et PBB{ERE
FIH JALT IL—T 100%
FH ANAY JL—T 100%
F1 JALY JL—T 100%
F51 ANAY JL—T 89%
OEMEE
R fnZEstt PBBE AR
FIH JALZ JL—T 100%
FHE ANAZ JL—T 100%
OXRN=E;
PR &% PBB{# &
FIH JALT IL—T 100%
FH ANAY JL—T 100%
FHE VYSURIT 100%
{Eibs JALY IL—T 100%
F1 ANAZ JL—T 100%
#T FARYHRITSAVR 3%

R fZEstt PBBE AR
FIH JALG )L—T 100%
FHE ANAG JL—T 99%
JF1H JYSURIF 99%
F JALY JL—T 100%
F51 ANAY JL—T 100%
OREARTEHE
R fZEstt PBBE AR
FIH JALG )L—T 100%
FHE ANAG JL—T 99%
FIH YSURIY 100%
FT JALY JL—T 100%
F51 ANAY JL—T 100%
OEBEHE
BRAR fZEstt PBBE AR
FIH JALG )L—T 100%
FHE ANAG JL—T 100%
FIH YSURIY 100%
F JALY JL—T 100%
Eirms ANAY JL—T 91%
126 JALY JL—T 100%
126 ANAY JL—T 77%
15[ AVIVBNIT TP 66%
OERREZE
Bis izt PBB{#ERAE
FIH JALT )L—T 100%
FH ANAY JL—T 100%
FHE ANAI—Y 76%
FIH YSURIY 100%
g &R SrybRE— S8y 100%
b &R ANAI—Y 87%
&R VYSURIF 98%
[EibRs JALY IL—T 100%
FT ANAZ JL—T 99%
'/X JALY L—T 98%
=/E ANAI—Y 86%




OR&EEHE

R fZEstt PBBE AR
FH JALG L—T 100%
FH ANAG )L—T 97%
JF1H AHhAI—Y 98%
K H ANAZ JL—T 98%
A H Peach* Aviation 52%
K H SIybRE— Ty 66%
aaki JALY IL—T 97%
aksi ANAS )L—T 67%
th STy RE— TRy 18%
aksi AhA4<—4 79%
aaki YSVRIY 73%
F JALY L—T 100%
F51 ANAY JL—T 99%
£k JALY IL—T 87%
E3Eic] ANAY JL—T 85%
E3Fic] Peach-Aviation 61%
E3kic) CIyhRE— DU 56%
#HE ANAI—Y 86%
#HE YSURIY 89%
12 JALY IL—T 98%
1= ANAY JL—T 84%
1= ] Peach* Aviation 72%
12 ANAI—Y 83%
=1 JALY JL—T 91%
=) ANAY JL—T 85%
FaiE JALY L—T 92%
HAiE ANAY )L—T 93%
FaiE YSURIT 73%




[R1.11]

iR fizestt PBB{# H =
=0 JALT IL—T 85%
= ANAY )L—T 80%
Jt L JALY IL—T 87%
e Lo ARE—D054 ¥ — 90%
12 JALY )L—T 100%
12 ANAY )L—T 99%
12 ARA—I54 ¥ — 74%
12 AHA<T—H 90%
K& JALY )L—T 80%
KB ANAY JL—T 99%
KB VYSURIT 90%
HER JALY )L—T 98%
HER ANAY )L—T 92%
HER VYSURIT 85%
PN JALY IL—T 85%
PN ANAY JL—T 84%
PN VYSURIT 94%
=I5 JALY )L—T 60%
=I5 ANAY )L—T 80%
=I5 VYSURIT 87%
BERE JALY )L—T 98%
BERE ANAY )L—T 81%
BERE AHA<T—H 88%
BERE YSVRIF 87%
AR JALY IL—T 100%
AR ANAY JL—T 95%
AR AHAT—4 97%
AR VYSURIT 50%
= JALY IL—T 100%
= ANAY JL—T 95%
#AiE JALY )L—T 100%
A ANAY )L—T 97%

OFHZEH
ERR Tt PBB{f %
ZiE Al JALG JL—T 81%
2 Al AIRDO 52%
JBJII JALY IL—T 100%
JEJI AIRDO 72%
Il E% JALY )L—T 87%
Il E% ANAS )L—T 73%
Il % AIRDO 85%
Gl JALG IL—T 96%
i/ AIRDO 58%
T JALY )L—T 98%
T ANAS J)L—T 99%
T AIRDO 77%
T AHA<T—H 88%
BHEE JALY )L—T 92%
BHEE ANAS )L—T 89%
BHEE AIRDO 94%
FAE JALY IL—T 95%
FAE ANAY JL—T 73%
N JALY IL—T 91%
N ANAY JL—T 84%
&R JALY JL—T 96%
&R ANAS )L—T 97%
F1 JALY IL—T 100%
F1 ANAY JL—T 100%
ESTii] JALY IL—T 84%
ESTii] ANAY JL—T 90%
ESTii] ARA—D514¥— 60%
#HE ANAS J)L—T 88%
#HE AHA<T—H 91%
il L JALY IL—T 95%
il L ANAY JL—T 89%
LE JALY IL—T 97%
LE ANAY JL—T 92%
M=ETL JALY )L—T 56%
M=ETL ANAS J)L—T 87%
M=ETL ARRA—T54¥— 79%
= JALY IL—T 84%
= ANAY JL—T 72%
mE JALY )L—T 99%
mE ANAS J)L—T 68%
AL JALY IL—T 84%
AL ANAY JL—T 94%

OFTHREE

iz =t PBB{# %
HH JALT )L—T 100%
FH ANAY JL—T 100%
FH AIRDO 100%
J1H AhA<—Y 91%

2 Al JALY IL—T 96%

2 Al ANAY JL—T 83%
a5 JALY )L—T 86%
a5 ANAS J)L—T 59%
FAE JALY IL—T 83%
FAE ANAY JL—T 70%
& JALY IL—T 97%
& ANAY JL—T 98%
& AIRDO 100%
& Peach* Aviation 39%
& FARYHRITSAVR 0%
i) JALY )L—T 80%
i) ANAS J)L—T 91%
o] JALY )L—T 100%
o] ANAS J)L—T 100%
o] Peach* Aviation 79%
o] SIYrRE— Sy 93%
o] EMMEER 93%
&R JALY )L—T 100%
ok ANAS JL—T 100%
ok AIRDO 100%
=afd DIy RE—- T/ 100%
ok IFFOT TRy 64%
ok AHA<T—H 82%
F1 JALY IL—T 100%
F1 ANAY JL—T 100%
ESTii] JALY IL—T 100%
ESTii] ANAY JL—T 100%
ESTii] Peach* Aviation 66%
ESTii] PE S e A 64%
#HE ANAS JL—T 100%
#HE AIRDO 54%
#HE AHA<T—H 80%
LE JALY IL—T 100%
LE ANAY JL—T 100%
f2 8 JALY IL—T 100%
f2 8 ANAY JL—T 100%
f&h Peach*Aviation 90%
12 ANAT—1 57%




ORIFZ#E

OflIgZE#
iz =t PBB{# &
HH JALG JL—T 100%
FH ANAY JL—T 100%
FH AIRDO 100%
OHEEZTHE
ERiR =t PBB{# %
HH JALG JL—T 100%
FH ANAY JL—T 100%
FH AIRDO 100%
&R AIRDO 100%
F1 JALY IL—T 100%
F1 ANAY JL—T 100%
O#HaZE
iz Tt PBB{f %
T JALG JL—T 100%
T ANAS )L—T 88%
F1 JALY IL—T 100%
F1 ANAY JL—T 96%
F ] FARYIRIFT AV R 99%
f2 ANAY JL—T 98%
1= FARYIRIFT AV R 100%
f2 7Y NY=LITFAVR 100%
O/MRTEHE
iz =t PBB{# &
HH JALG JL—T 100%
FH ANAY JL—T 100%
f2 ANAY JL—T 100%
1= FARYIRIFT AV R 100%

OLBZEE
PR R =l PBB{# H =
FIH JALT IL—T 100%
FH ANAY JL—T 100%
T JALY )L—T 100%
T ANAY )L—T 100%
A FARYIRITFAVR 100%
A H EMMEEAR 100%
ORBEZEHE
R R Al PBB{# H =
FIH JALT IL—T 100%
FH ANAY JL—T 100%
Odb i ze i
RS =l PBB{#H =
FIH JALT IL—T 100%
FIH ARA—I54 ¥ — 100%
OMLZEH
PR R =l PBB{# H =
FIH JALT IL—T 100%
FH ANAY JL—T 100%
F51 JALY IL—T 100%
F51 ANAY JL—T 64%
OEMZEH
R R Al PBB{# H =
FIH JALT IL—T 100%
FH ANAY JL—T 100%
(OP.N EF:
PR R Al PBB{# H =
FIH JALT IL—T 100%
FH ANAY JL—T 100%
FIH YSVRIF 100%
F51 JALY IL—T 100%
F51 ANAY JL—T 100%
FFH FARYIRITSAVR 0%

iz =t PBB{# %
HH JALT )L—T 100%
FH ANAY JL—T 100%
FH YSURIF 100%
F1 JALY IL—T 100%
F1 ANAY JL—T 100%
ORERZHE
iz =t PBB{# &
HH JALT )L—T 100%
FH ANAY JL—T 100%
FH YSURIF 100%
F1 JALY IL—T 100%
F1 ANAY JL—T 100%
OEIFZEHE
iz =t PBB{# &
HH JALT )L—T 100%
FH ANAY JL—T 100%
FH YSURIF 100%
F1 JALY IL—T 100%
FF1 ANAY JL—T 100%
f2 JALY IL—T 100%
f2 ANAY JL—T 97%
1&[E 2 Y Ve iy o A YD 77%
OERREZEE
iz =t PBB{# &
HH JALT )L—T 100%
FH ANAY JL—T 100%
FH AHA<T—H 92%
FH YSURIF 100%
&R CIYbRE— TRy 98%
&R AHA<T—H 63%
&R YSVRIT 98%
F1 JALY IL—T 99%
F1 ANAY JL—T 100%
TX JALY )L—T 98%
TX AHA<T—H 63%




OMF=#E

BRHR fnZestt PBB{FAE
HH JALG JL—T 100%
FH ANAY JL—T 96%
JH AhA<—Y 91%
JIH JYSURIT 0%
o] ANAS J)L—T 100%
oA Peach* Aviation 50%
o] SIYrRE— Sy 65%
&R JALY )L—T 99%
&R ANAS J)L—T 98%
g &R D e S 10%
&R AHA<T—H 84%
&R YSVRIT 76%
F1 JALY IL—T 100%
F1 ANAY JL—T 100%
ESTii] JALY IL—T 69%
ESTii] ANAY JL—T 82%
ESTii] Peach* Aviation 64%
ESTii] PE S e A 69%
#HE AHA<T—H 84%
#HE YSVRIT 99%
f2 JALY IL—T 97%
f2 ANAY JL—T 98%
f&h Peach* Aviation 96%
12 AHAT—1 86%
Bo JALY IL—T 89%
Bo ANAY JL—T 89%
HAiE JALY )L—T 79%
HAiE ANAS J)L—T 97%
HAiE YSVRIT 77%
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iR fizestt PBB{# H =
=0 JALT IL—T 85%
= ANAY )L—T 87%
Jt L JALY IL—T 86%
e Lo ARE—D054 ¥ — 88%
12 JALY )L—T 100%
12 ANAY )L—T 99%
12 ARA—I54 ¥ — 73%
12 AHA<T—H 90%
K& JALY )L—T 80%
KB ANAY JL—T 99%
KB VYSURIT 71%
HER JALY )L—T 97%
HER ANAY )L—T 82%
HER VYSURIT 76%
PN JALY IL—T 87%
PN ANAY JL—T 88%
PN YSURTIF 81%
=I5 JALY )L—T 66%
=I5 ANAY )L—T 86Y%
=I5 VYSURIT 76%
BERE JALY )L—T 99%
BERE ANAY )L—T 87%
BERE AHA<T—H 89%
BERE YSVRIF 80%
AR JALY IL—T 100%
AR ANAY JL—T 97%
AR AHAT—4 98%
AR VYSURIT 58%
= JALY IL—T 100%
= ANAY JL—T 89%
#AiE JALY )L—T 100%
A ANAY )L—T 98%

OFHZEH
ERR Tt PBB{f %
ZiE Al JALG JL—T 63%
2 Al AIRDO 38%
JBJII JALY IL—T 98%
JEJI AIRDO 71%
Il E% JALY )L—T 73%
Il E% ANAS )L—T 92%
Il % AIRDO 92%
Gl JALG IL—T 96%
i/ AIRDO 63%
T JALY )L—T 99%
T ANAS J)L—T 99%
T AIRDO 73%
T AHA<T—H 87%
BHEE JALY )L—T 76%
BHEE ANAS )L—T 87%
BHEE AIRDO 93%
FAE JALY IL—T 92%
FAE ANAY JL—T 82%
N JALY IL—T 89%
N ANAY JL—T 83%
&R JALY JL—T 97%
&R ANAS )L—T 100%
F1 JALY IL—T 100%
F1 ANAY JL—T 100%
ESTii] JALY IL—T 92%
ESTii] ANAY JL—T 94%
ESTii] ARA—D514¥— 63%
#HE ANAS J)L—T 93%
#HE AHA<T—H 91%
il L JALY IL—T 95%
il L ANAY JL—T 87%
LE JALY IL—T 97%
LE ANAY JL—T 90%
M=ETL JALY )L—T 61%
M=ETL ANAS J)L—T 90%
M=ETL ARRA—T54¥— 81%
= JALY IL—T 86%
= ANAY JL—T 82%
mE JALY )L—T 97%
mE ANAS J)L—T 65%
AL JALY IL—T 85%
AL ANAY JL—T 94%

OFTHREE

iz =t PBB{# %
HH JALT )L—T 100%
FH ANAY JL—T 100%
FH AIRDO 100%
J1H AhA<—Y 91%

2 Al JALY IL—T 98%

2 Al ANAY JL—T 88%
a5 JALY )L—T 85%
a5 ANAS J)L—T 73%
FAE JALY IL—T 100%
FAE ANAY JL—T 73%
& JALY IL—T 100%
& ANAY JL—T 96%
& AIRDO 100%
& Peach* Aviation 51%
& FARYHRITSAVR 0%
i) JALY )L—T 79%
i) ANAS J)L—T 93%
o] JALY )L—T 100%
o] ANAS J)L—T 99%
o] Peach* Aviation 79%
o] SIYrRE— Sy 72%
o] EMMEER 94%
&R JALY )L—T 100%
ok ANAS JL—T 99%
ok AIRDO 100%
th CIYbRE— TRy 98%
ok IFFOT TRy 48%
ok AHA<T—H 98%
F1 JALY IL—T 99%
F1 ANAY JL—T 100%
ESTii] JALY IL—T 98%
ESTii] ANAY JL—T 99%
ESTii] Peach* Aviation 82%
ESTii] PE S e A 55%
#HE ANAS JL—T 100%
#HE AIRDO 58%
#HE AHA<T—H 65%
LE JALY IL—T 100%
LE ANAY JL—T 100%
f2 8 JALY IL—T 100%
f2 8 ANAY JL—T 100%
f&h Peach*Aviation 95%
12 ANAT—1 74%




ORIFZ#E

OflIgZE#
iz =t PBB{# &
HH JALG JL—T 100%
FH ANAY JL—T 100%
FH AIRDO 100%
OHEEZTHE
ERiR =t PBB{# %
HH JALG JL—T 100%
FH ANAY JL—T 100%
FH AIRDO 100%
&R ANAS J)L—T 100%
&R AIRDO 100%
F1 JALY IL—T 100%
F1 ANAY JL—T 100%
O#FaZE
iz Tt PBB{f %
T JALG JL—T 100%
T ANAS J)L—T 87%
F1 JALY IL—T 100%
F1 ANAY JL—T 97%
F ] FARYIRIFT AV R 100%
f2 ANAY JL—T 97%
1= FARYIRIFT 5LV R 100%
f2 7Y NY=LITFAVR 100%
O/MRTEH
iz =t PBB{# &
HH JALG JL—T 100%
FH ANAY JL—T 100%
f2 ANAY JL—T 100%
1= FARYIRIFT AV R 100%

OLBZEE
PR R =l PBB{# H =
FIH JALT IL—T 100%
FH ANAY JL—T 100%
T JALY )L—T 100%
T ANAY )L—T 100%
A FARYIRITFAVR 100%
A H EMMEEAR 100%
ORBEZEHE
R R Al PBB{# H =
FIH JALT IL—T 99%
FH ANAY JL—T 100%
Odb i ze i
RS =l PBB{#H =
FIH JALT IL—T 100%
FIH ARA—I54 ¥ — 100%
OMLZEH
PR R =l PBB{# H =
FIH JALT IL—T 100%
FH ANAY JL—T 100%
F51 JALY IL—T 98%
F51 ANAY JL—T 43%
OEMZEH
R R Al PBB{# H =
FIH JALT IL—T 100%
FH ANAY JL—T 100%
(OP.N EF:
PR R Al PBB{# H =
FIH JALT IL—T 100%
FH ANAY JL—T 100%
FIH YSVRIF 100%
F51 JALY IL—T 100%
F51 ANAY JL—T 100%
FFH FARYIRITSAVR 17%

iz =t PBB{# %
HH JALT )L—T 100%
FH ANAY JL—T 100%
FH YSURIF 100%
F1 JALY IL—T 100%
F1 ANAY JL—T 100%
ORERZHE
Big st PBB{f %
HH JALT )L—T 100%
FH ANAY JL—T 100%
FH YSURIF 99%
F1 JALY IL—T 100%
F1 ANAY JL—T 98%
OEIFZEHE
Big st PBB{f %
HH JALT )L—T 100%
FH ANAY JL—T 100%
FH YSURIF 100%
F1 JALY IL—T 100%
FF ANAY JL—T 99%
f2 JALY IL—T 100%
f2 ANAY JL—T 96%
1&[E 2 Y Ve iy o A YD 91%
OERREZEE
Big st PBB{f %
HH JALT )L—T 100%
FH ANAY JL—T 100%
FH AHA<T—H 92%
FH YSURIF 100%
&R ANAS J)L—T 100%
&R CIYbRE— TRy 98%
&R AHL1I—Y 72%
&R YSVRIT 95%
F1 JALY IL—T 100%
F1 ANAY JL—T 100%
TX JALY )L—T 98%
TX AHA<T—H 72%




OMF=#E

iz =t PBB{# &
HH JALG JL—T 99%
FH ANAY JL—T 97%
FH ANAT—1 98%
JIH JYSURIT 0%
o] ANAS J)L—T 100%
oA Peach* Aviation 44%
o] SIYrRE— Sy 99%
&R JALY )L—T 98%
&R ANAS J)L—T 82%
P EB JrybRE— TSy 45%
&R AHA<T—H 83%
&R YSVRIT 73%
F1 JALY IL—T 86%
F1 ANAY JL—T 92%
ESTii] JALY IL—T 91%
ESTii] ANAY JL—T 84%
ESTii] Peach* Aviation 62%
ESTii] PE S e A 55%
#HE AHA<T—H 83%
#HE YSVRIT 99%
f2 JALY IL—T 99%
f2 ANAY JL—T 99%
f&h Peach* Aviation 92%
12 AHAT—1 98%
Bo JALY IL—T 95%
Bo ANAY JL—T 88%
HAiE JALY )L—T 95%
HAiE ANAS J)L—T 92%
HAiE YSVRIT 75%




